(

Geometry 22: 1.7,3.7, 3.8 Practice

“raph the segments AB and ¢},

1. A(2, -1), B(3, 6)
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2. C(-3,14), D(10, —4)

Find the coordinates of the midpoint of 4B and o

3. 42, -1), B3, 6)
él.g’ :l_t}f = IR ?:'
2/ / 2 3‘ (Qv

o (35, ’2,.35

I 2
!
Find the distance between each pair of points. If necessary, round to

7. A(-2, 6), B(10, -8)

Aoy (30"

Jot v ayE
NIRRTV

4. C(-3, 14), D(10, -4)
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the nearest hundredth.

8.C(3,-5), D(:9,4)
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9. Find the perimeter of a triangle with vertices at the following points: A(B -5), B( 2, 10), C( 1,-1)
Round your answers to the nearest hundredth. - [
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Find the slope of the line passing through the given points.

12, (2,3), (-1, -6)
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Fill in the missing information, then graph each line.

14. C i

*This equation is written in

15, y-2=(x+3)

*This equation is written in

(-6, -2), (-3, -6)
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16. y+2m~4(x+3)
*This equation is written in

Rewrite each equation in slope-intercept form.

17 y-3=4(x+2)
“3= (v §
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18. p—2=-2(x-5)
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Slope = 3 ‘ *stope=_4 *slope=_-Y4
*y-intercept = - Y *point = (-3, 3-) *point = @Lﬁ
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Rewrite the equations below in slope intercept form. Then determine whether the lines are parallel,

Explain.
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Use the given information to write an equation for each line in either form.
22.~>given slope and intercept

slope 6, y-infercept-4-——<
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b, siope—;—, y-intercept -2

23, given a graph
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24.~> given two points

a. through (-2, 0) and (3, 10) b. through (10, 2) and (2, -2)
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a. Slope=-2 and passes through (5, -1) b. slope =2/3 and passes through (=3;

252> given lopan one point
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Slope intercept form ﬁ)\ = —X + (i\ Slope intercept form /(4 = Y X, -#(n\
Graph each line,
26.y=-4 27, x=3 29. Graph each pair of lines.
I — T T S Then find their intersection point
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~ Ave the following lines (AB and CD) parallel, perpendicular or neither? Explain, \
30, A(-1, -3), B(4, 3) and C(0, -3), D(-4, 6) 31. A(-2, 0), B(5, -8} and C(3, 4), D(10, 12) (
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32, A(2, 2B (2, 9) and C(4, 5), D4, -3) (0, -2), B(3, 4) and C(4 7), D(]O 10)
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Write an equation of the line parallel to AE that contains point C.

34, AB:y=-5x+1235  C(2 1) 35. AB y—m%x 4 45 CO-9

Slope of given line? -5
Slope of new line? -& -
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‘Write an equatlon of the line perpendicular to AB that confains point C. (‘f'

36. AB:y=2x-3;C(-6,5) 37. AB:y=x-1; C(-6-3)
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The vertices of a triangle are given. Plot the points on a coordinate plane and determine whether the triangle is
a right triangle. Show your work to justify your answer.

% X020 Y0.2,25,-) 9. 162,49, K1, 0,10, 5

40. Find the perimeter of the triangle in #38.




